Name

Probiem No.

Rones o Sled (o

() durent Zoho = CA = zod) 2.1 a
— — N : = ! 0 l
. CA 56.00n
LA - . ClL
roe) ’ -, »},\,] —-—'—*—-_....-.._...——_.F_.. -
Lo : f.l)\nf‘nr Shoop
Noieg Recavabdle. TH00 Cowen)
A/R, <2 000
INv-ehto, fu 5¥ ¥0D
F%fDnArL [ %0
] A | 1 (] HICNT f,.ﬁ"' :
122080
A cid lJeg-‘* ]
@) Cosh + ST Inv + AR = .1 9 11

&+

A0+ Q_-h

3004+ 42000 )

SBQDO

(3) A/R Tumover

',"\
Sala R

72000

T s ——— [ LYy S B L322 A
Avo AR 5 5560 Py
!J'T R -"‘. | Q | 7 Y ]
LJD v L. SaAlsl Uheolteeted ( Shmd oot |
! -
= 2/ = o o
it 77 - — — e e, & O, -
AL TN ovéy n
(.l'-'
e
5/ Tnvenhivy Thover
C Ok T Ol ) T
“ ( { ‘“'u‘l; . = A .—E L‘:'.:_, ’g‘ ¥ PNV (== LLS
£ ten IRV "-.\"‘""', .
e 1T SER00 -
e "':‘-;
(b)_daws Salus m IRV = 255 | 405 N/
1 ; —d ‘H}J v, J Ll
L--} {




Name

Problem No.

A [de 1

“‘ -l::\e"'h“"{} ?F '.&"1‘("_\

W f?} et e

L 40

160 7,

ve 24

CM

| Lo

(ﬂ ) CurvoN4:

?)IF”/’J {“"f\: o

Fc

22000

-

UM

*!

( 2000V 4

.‘ 5
{) )

=2 R
1 Py

= .
L

() B200

ll'-:l:!

g -

54400

i

(HO-23= r?) 18,000
c) _
\S\F f-" 0 }f l, 'U = a”'_'f T.:_f_ - 73 vy > e = STy T
u f"' = Ay , C0D

=
=0

C/.

:_-.‘_.- l-\ﬁ.‘q-\.rn.‘._.“\

[ 2000

Y .«r,u,f )

lae

b ynts

L

oY) _,_;.'EU

] |

*/r‘ %M}(

1«.:_:
¢ Pea

.r""'g'
/

-
-

7%0

24000

‘,"- 1( ()

r!' /f:ft; [:f‘:}‘li'\::r




Name

Problem No.
(B) __FCTDIOOT 70000 £ 22660 — (U0 000
- - ML= PNy - -

{ 3500 i ﬂfi{j)




Exam 2 Practice - Horizontal Analysis

Assets
Current Assets
Long-Term Investments
Plant Assets, Net

Total Assets

Liabilities
Current Liabilities
Common Stock
Other Paid in capital
Retained Earnings
Total Liabilities and Equity

Korbin Company
Comparative Balance Sheets
December 31, 2015 and 2014
(2015 - 2014) Dollar Change/2014

Dollar Percent

2015 2014 Change Change
52,390 37,924 14,466 38%

- 500 (500) -100%
100,000 96,000 4,000 4%
L1 182,350 134,424 17,966 13%
22,800 19,960 2,840 14%
72,000 72,000 - 0%
9,000 9,000 - 0%
48,590 33,464 15,126 45%
152&9_ 134,424 17,966 13%




